| MATH 162 — SPRING 2010 ~ SECOND EXAM - MARCH 9, 2010
VERSION 01
MARK TEST NUMBER. 01 ON YOUR SCANTRON

STUDENT NAME —

STUDENT ID

RECITATION INSTRUCTOR;

INSTRUCTOR;

RECITATION TIME

INSTRUCTIONS

1. Fill in all the information requested above and the version number of the test on your
scantron sheet. '

2. This booklet contains 12 problems, each worth 8 points. There are four free points.
The maximum score is 100 points.

3. For each problem mark your answer on the scantron sheet and also circle it is this
booklet.

4. Work only on the pages of this booklet.
5. Books, notes and calculators are not allowed.

6. At the end turn in your exam and scantron sheet to your recitation instructor.

USEFUL INTEGRALS
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1) What is the most suitable substitution to calculate the integral

A) 3z = 2sind
B) 3z = 2tan@ /CB% Lf /@X) (Z)
@3:6:25%9 - Lo/-g» IX = 2 Sec &
D) 2z = 3tané
E) 2z = 3sin @

2) Which of the following integrals do you get when you make a suitable trigonomet-
ric substitution to evaluate
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3) Evaluate the integral
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4) The form of the partial fraction decomposition of i;zai—ig is
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5) Evaluate the integral
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6) Use the formulas on page 1 to compute
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7) The indefinite integral
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8) Find the length of the arc of the curve y = 12?, with 0 <z < 1,

Hint: Use one of the integrals on page 1. K /
| | + @ c{ x = W dx
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9) Find the area of the surface obtained by rotating the curve y = %3:3 0 <z <1,about
the x-axis.

A) 2m(v/2 ~ 1) A j ZTF /\ -f—=[><) dx
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10) Find the z-coordinate of the centroid of the region of the first quadrant bounded
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11} The limit of the sequence
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